
円の面積を求めましょう。（円周率は3.14で計算します。）

式 式

式 式

c㎡ c㎡答え

直径が18cmの円

答え

答え

半径が7cmの円

c㎡c㎡ 答え

連番

タイトル＋連番

サブ＋Lv

タイトル

サブタイトル

学年

円の面積 ( 2 )小6
むずかしい

月 日

名前

1 2

3 4

6cm12cm

6cm

240°



円の面積を求めましょう。（円周率は3.14で計算します。）

式 式

式 式

c㎡

339.12 c㎡ 75.36 c㎡

答え

12 x 12 x 3.14 = 452.16
6 x 6 x 3.14  = 113.04
113.04 - 28.26 = 339.12

6 x 6 x 3.14 x          = 75.36

答え 答え

153.86 c㎡ 254.34答え

7 x 7 x 3.14 = 153.86 9 x 9 x 3.14 = 254.34

半径が7cmの円 直径が18cmの円

こ た え小6 円の面積 ( 2 )
むずかしい

1 2

3 4

6cm12cm

240

360

6cm

240°


